MODEL #
FM3401ES-SC-2PK

Questions?

GIVE US A CALL: 1-888-980-5122
MON-FRI 8:30AM - 5:30PM (PT)

0000 ©

EASY DIFFICULT

The Assembly Rating is a
5-point system showing the
level of effort needed to
assemble a specific product.

1/6



2/6



3/6



4/6



SIDE CHAIR

1 2 3
BACK CHAIR SEAT FRONT LEG
1 pc. 1pc . 2 pcs.
HARDWARE
A B C
(o] P S
BOLT @5/16*3'L LOCK WASHER @5/16" FLAT WASHER @5/16"
4pcs. 9pcs. 9pcs.

D E F
L o] I (] P
ALLEN KEY M4 BOLT @5/16*1-1/2"L BOLT @5/16%2-1/4"L

1pc. 1 pc. 4 pcs.

5/6



ASSEMBLY INSTRUCTIONS

STEP 1

STEP 2

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

6/6


BerenyceV
Typewritten Text
This product is intended for RESIDENTIAL USE ONLY and not for commercial use.





